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1 A circle has only one: e bV e k13 28I L]
a)Secant b)Chord a)d’ b b i
¢)Diameter d)Center c) B D7,

A line which has only one point in common
with the circle is called:

a)Radius b) Diameter
c)Tangent d) Secant

A Tangent line intersect the circle at:
b)Two points
d) No point

a)One point
¢)Three point

touching circles externally 1s:
a)Of zero length

b)The radius of the circle

¢)The diameter of each

d)Twice the diameter of each other

In an arc of circle substends a central angle
600, then corresponding chord will make

central angle.
a)20’
)60

b) 40°
d) 80°

6 4cm long chord subtends acentral angel 60

the radial segment of theweitele is:
b¥ecm
d)4cm

a)lem

c)3cm

Out of two congruent arcs of a circle if one
makes a central angle of 30" then other arc

will make central angle of

a) 15 b) 30
c)45° d) 60°

central angles is:
a)congruent b)Incongruent

c)Parallel d)overlapping
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a)20° b)40°
c)60’ d)80
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A pair of chords of a circle which make congruent uﬁfﬂﬁgﬂﬁauﬁ! L‘C)?' &) Udf/'d' Vel

a)lcm b)2cm
¢)3cm d)4cm
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a)ls’ b) 30’
)45 d)60°
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